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CIRCLES

Wb Jee Workout Category 1 Single Option Correct Type

1. The common chord of z? +y*> —4x —4y =0 and z® + 3> = 4°
subtends and angle a at the origin, then o equals

A.30°

B.45°

C.60°

D.90°

Answer: D


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pywJOSiEmodP

° Watch Video Solution

2. The condition so that the line (z + g)cos8 + (y + f)sinf =k is a
tangent to 22 4+ y? + 29z + 2fy + ¢ = O'is

Ag + fP=c+ K

B.g2—|—f2=c2—}—k2

Co+fi=2-k

D.g> + fP=c—Kk?

Answer: A

o Watch Video Solution

3. The circumcentre of the triangle, whose vertices are (0,0),(4a,0),(0,6a) is

A. (2a,0)

B. (0,3a)


https://dl.doubtnut.com/l/_pywJOSiEmodP
https://dl.doubtnut.com/l/_fSmdZYsE181o
https://dl.doubtnut.com/l/_5jqLBe3T7Nqt

C.(3a,0)

D. (2a,3a)

Answer: D

o Watch Video Solution

4.Find the perimeter of the circle 22 + 3* = a

Az?+y* =azx —by
B.z? +y? = azx + by
Cz’—y’>=azx —by

D.none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5jqLBe3T7Nqt
https://dl.doubtnut.com/l/_8hRV7ubppjOr

5. The radical centre of
2 2 _ 2 2 _ 2 2
4ty -2z -2y+1=0,2"4+y" —4r+6y—2=0and z° + y° + 3z

is
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Answer: C

o Watch Video Solution

1
6. If <mi, —),i =1, 2, 3, 4 are four distinct points on a circle, show
m;

that mymomsmy =1

A.O


https://dl.doubtnut.com/l/_ysBXtRNTvodi
https://dl.doubtnut.com/l/_ikQrImKy3Zk2

Answer: A

° Watch Video Solution

7. Locus of the centre of the circle which touches the x-axis and also the
circle (z — 2)® + (y — 2)® = 4 externally is
2 2
A(r—2)"+(y—2)" =16

B.(z —2)%—8y=0

C.(x—2)2—|—< —E>2:10

2

D.z2 — 4z +4=0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ikQrImKy3Zk2
https://dl.doubtnut.com/l/_fLWIAXzGVtbi
https://dl.doubtnut.com/l/_J4gCkKDlzwxq

8. Tangents are drawn from (4, 4) to the circle x? + y2— 2¢—2y-7 = 0to
meet the circle at A and B. The length of the chord AB is

A.4,/3 units

B. 24/3 units

C. 2,/6 units

D. 34/2 units

Answer: D

o Watch Video Solution

9. Length of intercept made by the circle z2 + 3% — 16z + 4y — 36 = 0
on x-axis is

A. 20

B.10

C.5


https://dl.doubtnut.com/l/_J4gCkKDlzwxq
https://dl.doubtnut.com/l/_utHkV0Q2oJMZ

D.none

Answer: A

° Watch Video Solution

10. The radius of the circle 3z + 3y® + 9z + 8y — 4 = Oiis

193

A. units

ERE

19

@

3@

units

12

C. units

w

D.none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_utHkV0Q2oJMZ
https://dl.doubtnut.com/l/_wJHkq2YeT8We

1. The length of the transversal common tangent to the circle
22+ 9y =1and (z — t)* + y® = 1is /21, then t=

A £2

B.+4

C.£3

D.£+5

Answer: D

o Watch Video Solution

12. Locus of centre of a circle of radius 2, which rolls on the outside of
circlez? + 34> + 3z — 6y —9=0is

Azl+y>+3z—6y+5=0

B.a> +¢y>+3z—6y—31=0

Ca?+1y?+3c—6y+29/4=0


https://dl.doubtnut.com/l/_r5vIRURtnJMS
https://dl.doubtnut.com/l/_Z1eSMWpa5T2f

D.none

Answer: D

° Watch Video Solution

13. One of the diameters of the circle 2% +y? — 12z + 4y +6 =0 is
given by

Az+y=0

B.z +3y =20

Cx=uy

D.3x +2y =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Z1eSMWpa5T2f
https://dl.doubtnut.com/l/_HNmApYyqKgrl

m
14. Area of the circle in which a chord of length+/2 makes an angle Eat
the centre,

A. 7 /2 units

B. 27 units

C. T units

D. 7 /4 units

Answer: C

o Watch Video Solution

15. If a circle passes through the point (a,b) and cuts the circle
2% 4 y?> = 4 orthogonally, then the locus of its centre is
A2r+4y—9=0
B.2x +4y+9=0

C2zx —4y+9=0


https://dl.doubtnut.com/l/_jm1UcMhmtPXh
https://dl.doubtnut.com/l/_RIFiBaD95PGK

D.none

Answer: A

° Watch Video Solution

16. The circles 22 + y*> + 62 + 6y = Oand 22 + 3*> — 122 — 12y = 0

A /6
B.7w/4
C.m/3

D.7/2

Answer: D

° Watch Video Solution

17.The circles 2* + ¢ + 6z + 6y = 0and 2> + y> — 122 — 12y = 0


https://dl.doubtnut.com/l/_RIFiBaD95PGK
https://dl.doubtnut.com/l/_u7P07wN8XaKx
https://dl.doubtnut.com/l/_VEmNHFxNAPRu

A. cut orthogonally

B. touch each other internally

C.intersect at two points

D. touch each other externally

Answer: D

o Watch Video Solution

18. The locus of the centre of the circles which touches both the axes is

given by

B.z> +3° =0
Cx2—y2:1
D.m2+y2:1



https://dl.doubtnut.com/l/_VEmNHFxNAPRu
https://dl.doubtnut.com/l/_aa9KXHA8ywVP

| ° Watch Video Solution

19. The circles z? + y* — 10z + 16 = 0 and 2? + y? = a? intersect at
two distinct point if

Aa <2

B.2<a<8

C.a>8

D.a =2

Answer: B

° Watch Video Solution

20. The straight line z+y—1=0 meets the circle
z? +y? — 6z — 8y = 0 at A and B. Then, the equation of : the circle of

which AB is a diameter, is


https://dl.doubtnut.com/l/_aa9KXHA8ywVP
https://dl.doubtnut.com/l/_SgHtFnH1MJTk
https://dl.doubtnut.com/l/_RB2gLnBBtvsI

Azl4+1y? —2y—6=0
B.z? 4+ 9> +2y—6=0
c2(z*+9°) +2y—6=0

D.3(z* +¢°) +2y—6=10

Answer: A

o Watch Video Solution

21. If the straight |line y=mxz lies outside the circle
2 + y2 — 20y + 90 = 0 then the value of m will satisfy (A) m < 3 (B)
lm| < 3(C)m > 3 (D) |m| >3

Am <3

B.lm| < 3

cm >3

D.|m| >3


https://dl.doubtnut.com/l/_RB2gLnBBtvsI
https://dl.doubtnut.com/l/_9pckdNLiH2wB

Answer: B

° Watch Video Solution

22.The intercept on the line y = x by the circle z? +y? — 2z = 0is AB.

Equation of the «circle with AB as a diameter is (A)
SR (PR R O (T Y (PR R

*T3 vT3) ~ *T3 Y"3) 71
1\’ 1\* ©) 1\ 1\ 1

x—|—2 + y—l—2 = ac+2 + y+2 =7

Azi4+yi=1

N = N =

B.x(x —1) +yly—1) =0
C.a:2—|—y2 =2

D.(z—1)(z-2)+(y—D(y—2) =

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9pckdNLiH2wB
https://dl.doubtnut.com/l/_9INupRvHrEZh

23. If four distinct points (2k, 3k), (2, 0), (0, 3), (0,0) lie on a circle,
thenO1

Ak<O

B.O<Ek<I1

Ck=1

D.k>1

Answer: C

o Watch Video Solution

24, The length of the common <chord of the circles
2?4+ y? -2 +4y—20=0,2>+y> + 62+ 10y —2=0is

A. 8 units

B. 10 units

C ﬁ units
)


https://dl.doubtnut.com/l/_gwZBECAJV17f
https://dl.doubtnut.com/l/_1buRxxdoFYtj

D % units
"5

Answer: C

° Watch Video Solution

25.1f (2, 4) is a point interior to the circle z? + y2 —6z —10y+A=0
and the circle does not cut the axes at any point, then

A. (25, 34)

B.(9,32)

C.(25,32)

D. (4,25)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1buRxxdoFYtj
https://dl.doubtnut.com/l/_Qxb1x4hOnlf8

26. The radical centre of circles represented by

Si=a’ 4+ —Te—6y—4=0,8=2>+y"+10z+6y—4=0

A(—1,1)
B. (1,1)
C.(0,0)

D.none

Answer: C

o Watch Video Solution

27. Sum of the square of the length of the chord intersected by the line
x+y=mn,n € Noncircle z? + y2 = 4is: (A) 11 (B) 22 (C) 33 (D) none of
these

A. 210 units

B. 180 units


https://dl.doubtnut.com/l/_vDtcZE3UsVbd
https://dl.doubtnut.com/l/_TM7Z4k5JPYY4

C. 150 units

D. 120 units

Answer: A

° Watch Video Solution

28. If the coordinates of one end of a diameter of the circles
2 + y2 + 4x — 8y + 5 = 0is (2,1),, the coordinates of the other end is
A. (-6,7)
B. (6,7)
C.(-6,7)

D. (7,6)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_TM7Z4k5JPYY4
https://dl.doubtnut.com/l/_ddf9TpyZdT9P
https://dl.doubtnut.com/l/_bgla4oV6G8Kz

29. The area of the circle 2 — 2z +y*> — 10y + k = 0 is 257 sg. units.

The value of k is equal to

B.1
C.0

D. 2

Answer: B

o Watch Video Solution

30. The number of integral values of r for which the circle
(. —1)*+ (y—3)% =7r? and 2® + 3> — 8z + 2y + 8 = 0 intersect at
two distinct points is

A3

B.2


https://dl.doubtnut.com/l/_bgla4oV6G8Kz
https://dl.doubtnut.com/l/_ZJpF1YSF7l29

C.5

D.1

Answer: B

o Watch Video Solution

Wb Jee Workout Category 2 Single Option Correct Type

1. From a point P(z1, y;) on the straight line 4x-3y+14=0 two tangents PA
and PB are drawn to the circles
2> +9? =16 and 2° + y> + 8z — 6y + 12 = 0, then

A. PA=PB

B. PA=3PB

C. 3PA=PB

D.none


https://dl.doubtnut.com/l/_ZJpF1YSF7l29
https://dl.doubtnut.com/l/_fPwCY8aZNg7J

Answer: A

° View Text Solution

2. If the circles z? + y? — 16z — 20y + 164 = r2 and
(z —4)® 4+ (y — 7)® = 36 intersect at two points then (a) 1 < r < 11
(b)r=11(c)r >11(d)0<r <1

Al<r<l1l

B.r <1

Cr=11

D.r >1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fPwCY8aZNg7J
https://dl.doubtnut.com/l/_UoF4vv8I5egy

3. The angle between the pair of tangents drawn from the point (2,4) to
the circle z? + y2 =4is

A.tan"1(3/8)

B.tan " '(4/3)

C.90°

D.none

Answer: B

o Watch Video Solution

4. The locus of the point whose polars wrt. the circle
a:2—|—y2—4x—4y—8:0andx2—|—y2—2a:—|—6y—2:0 are
mutually perpendicular is

Az +y -3z +y=4

Bz’ + ¢y +3x—y=4


https://dl.doubtnut.com/l/_F1nC07UHOPah
https://dl.doubtnut.com/l/_lJGlIeN5EAzn

Cal+y’+3z+y=4

D.z2 +y? — 3z —y = 4.

Answer: A

° Watch Video Solution

5. The number of direct common tangents that can be drawn to the
circles z2 +y> 4+ 4z — 6y —12=0and 2>+ y* — 8z + 10y + 16 =0
is/are

A3

B.1

C.2

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lJGlIeN5EAzn
https://dl.doubtnut.com/l/_9ACixF58N90B

6. The point of contact of the circles
2 +y? —4x+6y—3=0and 22+ 3>+ 16z +6y+37=0is
A(—8, —3)
B. (2,-3)
C.(-2,-3)

D. none

Answer: C

o Watch Video Solution

7. Vertices of a variable triangle are (5,12), (13cos#, 13sinf) and

(13siné — 13 cos 6), Where 8 € R. Locus of it's orthocentre is:

Az +y—17° +(z —y+7)° = (26)°

B.(z +y+ 172 + (z —y—7)% = (26)*


https://dl.doubtnut.com/l/_9ACixF58N90B
https://dl.doubtnut.com/l/_mat1OmNem9sN
https://dl.doubtnut.com/l/_qoEkk57ArUtQ

C+y+17)>+ (z+y+7)°%=(26)°

D.(z —y—17) + (z + y — 7)> = (26)°

Answer: A

° Watch Video Solution

8. If the circle 2 +y 4+ 2 +3y+1=0 cuts
z? +y®> + 4z + 3y + 2 = 0 at AandB , then find the equation of the
circle on AB as diameter.

Az +y +2+3y+3=0

B.202 + 2y + 2z +6y+1=0

Ce?+yi+zx+6y+1=0

D.none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qoEkk57ArUtQ
https://dl.doubtnut.com/l/_rWr2zHoUW6h7

9. Let C; and C, denote the centres of the circles z2 + y2 =4 and
(z — 2)® + y® = 1 respectively and let P and Q be their points of
intersection. Then the areas of triangles C1PQ and CyP(Q are in the
ratio _

Ad:1

B.5:1

C.7:1

D.9:1

Answer: C

o Watch Video Solution

10. If (-2,) is a limiting point of a coaxial system of circle of which

z? + y? — 4z — 6y + 7 = 0is a member, then the other limiting point is

A4—12
"\5" 5


https://dl.doubtnut.com/l/_rWr2zHoUW6h7
https://dl.doubtnut.com/l/_eHioid4EAZ9L
https://dl.doubtnut.com/l/_74KAx0A8Vdxb

Answer: D

° View Text Solution

11. Equation of the tangent to the circle at the point (1, -1) whose centre is

the point of intersection of the straight lines x-y=1 and 2x+y-3=0, is

Azxz+4y+3=0

B.3x —y—4=0

Cz—-3y—4=0

D.dr +y—3=0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_74KAx0A8Vdxb
https://dl.doubtnut.com/l/_0M9ljbGiCikM

12. A circle passes through the points ( 2,3) and ( 4,5) . If its centre lies on
the line,y — 4z 4+ 3 = 0, then its radius is equal to :

A. 1 units

B. 2 units

C. /5 units

D. v/2 units

Answer: B

o Watch Video Solution

13. If two distinct chords, drawn from the point (p, q) on the circle
2 +y2 = pr + qy (where pq # q) are bisected by the x-axis, then

P’ = ¢ (b)p* = 8¢ p* < 8¢* (d) p* > 8¢


https://dl.doubtnut.com/l/_0M9ljbGiCikM
https://dl.doubtnut.com/l/_aRmPYGv886aq
https://dl.doubtnut.com/l/_4yK0f82p6zPH

Answer: D

° Watch Video Solution

14. If two circles 22 + y? + ¢ = 2ax and z? + y* + ¢ — 2by = 0 touch

1 1 1
each other externally, then prove that — + — = —
a2 b2 c2
1 1 1
A te T2
1 1 1
ettt a
1 1 1 B
CEteta?
1 B 1 1
@@ » &
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4yK0f82p6zPH
https://dl.doubtnut.com/l/_2UMwkQsSLmX9

15. If the length of the tangent from (fg) to the circle z* + y*> = 6 is
twice the length of the tangent from the same point to the circle
z? +y* + 3z + 3y = 0, then

AfP+g +4f+49-2=0

B.f2+¢g>+4f+49+2=0

CfP-g"+4f=0

D.f>+g>+4f=0

Answer: B

° Watch Video Solution

Wb Jee Workout Category 3 One Or More One Option Correct Type

1. The equation of the circle whose centre lies on z + 2y = 0 and

touching 3x-4y+8=0 and 3x-4y-28=0 is


https://dl.doubtnut.com/l/_2UMwkQsSLmX9
https://dl.doubtnut.com/l/_Vzxar7U3SuzV
https://dl.doubtnut.com/l/_sBMMLCKLgNxK

A(z—2°+(y+1)7 =324
B.5(z — 2)® + 5(y — 2)* = 324
C.25(z — 2)° + 25(y + 1)® = 324

D. none

Answer: C

o Watch Video Solution

2.The co-ordinates of the limiting points of the co-axial system of circles

2?49y +32+2y—4=0andz®+9y* —z —2y+4=0are

3—-v23 5—+23
A ,
4 4
3+423 54423
B. ,
4 4
3+423 54423
C. ,
2 2
D.none

Answer: A::B


https://dl.doubtnut.com/l/_sBMMLCKLgNxK
https://dl.doubtnut.com/l/_seZU9LZCM8Kc

° View Text Solution

3. The straight line 4z +3y=p is tangent to the circle
22 +y® + 4,/3 — 4z — 6y = 0, then p equals

A.10 + 12\/5

B.10 — 22,/3

C.10 + 104/3

D.22 — 10,/3

Answer: C::D

o View Text Solution

4. Four distinct points (2k,3k) , (1,0), (0,1) and (0,0) lies on a circle for-

A. all integral value of k

BO<k<1


https://dl.doubtnut.com/l/_seZU9LZCM8Kc
https://dl.doubtnut.com/l/_0iGWdxXyDkqO
https://dl.doubtnut.com/l/_6M8vmvFK1qyO

Ck=0

5

D.k = —

& 13
Answer: C::D

° Watch Video Solution

5. The equation of the image of the circle
z? + y2 + 16x — 24y + 183 = 0 by the line mirror 4 + 7Ty + 13 = 0'is :
Az’ +y?+32c —4y+234=0
B.x? + 92 +32z +4y—235=0
Ca?+1y>+32x—4y—235=0

D.z2 +y® + 32z + 4y + 235 = 0

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6M8vmvFK1qyO
https://dl.doubtnut.com/l/_RqIJbPqxl8SL
https://dl.doubtnut.com/l/_faQsQB4whRXW

6. The equation of a circle C; is z® +y? = 4. The locus of the
intersection of orthogonal tangents to the circle is the curve Cy and the
locus of the intersection of perpendicular tangents to the curve C; is the
curve (3, Then

A.co and cj are circles having same centre

B. the area enclosed by the curve c3 is 647 sq. units

C.cgis acircle

D. none

Answer: A::B::C

o Watch Video Solution

7. circle C of unit radius lies in the first quadrant and touches both the
co-ordinate axes. The radius of the circle which touches both the co-
ordinate axes and cuts C] so that common chord is longest (A) 1(B) 2 (C)

3(D)4


https://dl.doubtnut.com/l/_faQsQB4whRXW
https://dl.doubtnut.com/l/_6ub3RHLjRnsr

A2

n

O
W= N =

Answer: B::D

o Watch Video Solution

8. All those circles which pass through (2, 0) and (-2,0) are orthogonal to
the circle(s)

Az>+y?—bx4+4=0

B.2> +¢y>+ 13z +4 =10

Cal—y? —1224+4=0

D.z? 4+ ¢y — 10z +4 =0

Answer: A::B::C::D

~



https://dl.doubtnut.com/l/_6ub3RHLjRnsr
https://dl.doubtnut.com/l/_q0or3sa5Tw2b

| ° Watch Video Solution

9. Tangents drawn from the origin to the circle

2

z? + y? — 2ax — 2by + a* = 0 are perpendicular if

A.p=q

D.pz—{—q2 =1

Answer: A::B::C

° Watch Video Solution

10. The equation of circle passing through (-1,-2) and touching both the

axes is

Az +y* —22—-2y—1=0


https://dl.doubtnut.com/l/_q0or3sa5Tw2b
https://dl.doubtnut.com/l/_uaYUo00hfPq3
https://dl.doubtnut.com/l/_LfqNws54jh3O

B.x2+y2+2x+2y+1=0
Cz?+y?+ 10z + 10y + 25 =0

D49y —22—2y+1=0

Answer: B::C

° Watch Video Solution

Wb Jee Previous Years Questions Category 1 Single Option Correct Type

1. A point P lies on the circle 2 4 ¢ = 169. If Q = (5,12) and

R = ( —12,5), then the ZQPRis

N

o
[ w3y a3 ol


https://dl.doubtnut.com/l/_LfqNws54jh3O
https://dl.doubtnut.com/l/_e9XW0AMkPY41

Answer: B

o Watch Video Solution

2. A point moves so that the sum of squares of its distances from the

points (1,2) and (-2,1) is always 6. then its locus is

3 1
A. the straight line y — 3=~ 3(:10 + 5)

1 3 1
B. the circle with centre | — —, — ] and radius —
27 2 V2

C. a parabola with focus (1,2) and directrix passing through (-2,1)

D. an ellipspe with foci (1,2) and (-2,1)

Answer: B

o Watch Video Solution

3. A circle passing through (0,0),(2,6),(6,2) cuts the x-axis at the point

P £ (0, 0). Then the length of OP, where O is the origin, is


https://dl.doubtnut.com/l/_e9XW0AMkPY41
https://dl.doubtnut.com/l/_0bYRaSgcnLvF
https://dl.doubtnut.com/l/_uNb2cwPeeRt8

D.10

Answer: C

o Watch Video Solution

4.1f one end of a diameter of the circle 322 + 3y> — 9z + 6y + 5 =0 is

(1,2), then the other end is

A (2,)
B. (2,4)
C.(2,4)

D. (-4,2)

Answer: C



https://dl.doubtnut.com/l/_uNb2cwPeeRt8
https://dl.doubtnut.com/l/_EkKgsxKgl9BC

| ° Watch Video Solution

5. The equation of circle passing through the point (1, 1) and point of
intersection 2 + y*> = 6and 22 + y? — 6z + 8 = 0, is
A2+ 1y +3z—-5=0
B.al+y? —4dx+2=0
Cal+y’+6z—4=0

Dz’ 49y —4y—2=0

Answer: A

° Watch Video Solution

6.the equation of the line parallel to the line 3z + 4y = 0 and touching

the circle 2 + y* = 9 in the first quadrant is:

Adx +4y =15


https://dl.doubtnut.com/l/_EkKgsxKgl9BC
https://dl.doubtnut.com/l/_wHFu1FoXcbxd
https://dl.doubtnut.com/l/_TZc0KwT7jJhQ

B.3z + 4y = 45

C3z+4y=9

D.3x + 4y = 27

Answer: A

° Watch Video Solution

7. The common chord of the circles 2%+ y? — 4z —4y =0 and

2z + 2y* = 32 subtends at the origin an angle equal to

N

o
w3 o3 &3 |3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_TZc0KwT7jJhQ
https://dl.doubtnut.com/l/_gJi6I8onQZAO

8. The locue of the mis-points of the chords of the circel
z? + y? + 2z — 2y — 2 = 0 which make an angle of 90° at the centre is
Az +y’ —22—2y=0
B.a’+¢y>— 2 +2y=0
Ce’4+y’+2x—2y=0

D.x2+y2+2x—2y—1:0

Answer: C

o Watch Video Solution

9. Without changing the direction of the axes, the origin is transferred to
the point (2,3). Then the equation z? + y? — 4z — 6y + 9 = 0 changes

to

Az’ +y +4=0


https://dl.doubtnut.com/l/_gJi6I8onQZAO
https://dl.doubtnut.com/l/_JRQ02ueu9T0U
https://dl.doubtnut.com/l/_E9zeAl49tWrx

B.z? +y? =4
Cal+y?—8x—12y+48=0

D.ac2+y2 =9

Answer: B

o Watch Video Solution

10. The angle between the pair of tangents drawn from a point P to the
circle z? + vy + 4z — 6y + 9sin® o + 13cos’a = 0 is 2o . then the
equation of the locus of the point P is z? + y? + 4z —6y+4 =0
2 2 _ 2 2 _
x*+y " +4x —6y—9=0 z*+y" " +4x —-6y—4=0
2’ +y’+4z —6y+9=0

Az’ + 1y’ +4z+6y+9=0

Bz’ +y? —4dz+6y+9=0

Czl4+y?>—4z—6y+9=0

D.2?+ ¢y +4zx —6y+9=0


https://dl.doubtnut.com/l/_E9zeAl49tWrx
https://dl.doubtnut.com/l/_IYC38aEtASc3

Answer: D

° Watch Video Solution

1. If one of the diameter of the circle, given by the equation
22+ y? +4x + 6y — 12 =0, is a chord of a circle S, whose centre is

(2,-3), the radius of S is

A \/4_1units

B. 34/5 units
C. 54/2 units

D. 2,/5 units

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IYC38aEtASc3
https://dl.doubtnut.com/l/_u6V6ZDhySGR0

12. From the point A(0,3) on the circle % + 4z + (y — 3)*> = 0 a chord
AB is drawn to a point such that AM = 2AB. The equation of the locus of M
is :-

Az +y* -8 —6y+9=0

Bzl 4+ +8z+6y+9=0

Cal+y*+8—6y+9=0

D.224+y* -8z +6y+9=0

Answer: C

o Watch Video Solution

13. A variable circle passes through the fixed A(p, q) and touches the x-

axis. Show that the locus of the other end of the diameter through A is

(x-p)"2 = 4qy.

A(z—p)? = 4qy


https://dl.doubtnut.com/l/_EMxBkqUsMN4F
https://dl.doubtnut.com/l/_TBXYE77CiXlr

B.(z — q)” = 4py

C.(y—p)* =4gz

D.(y — q)° = 4gz

Answer: A

° Watch Video Solution

Wb Jee Previous Years Questions Category 2 Single Option Correct Type

1 3
1if P =(0,0),Q = (1,0) and R = (5, %), then the centre of the

circle for which the lines PO, QR and RP are tangents is

AL
‘\274

1 /3
> @’T)
(1 ﬁ)
Cl=, —
2" 2./3
b 1 -1
\z 7



https://dl.doubtnut.com/l/_TBXYE77CiXlr
https://dl.doubtnut.com/l/_Q2Rcs8rNS72i

Answer: C

° Watch Video Solution

2. The locus of the midpoint of chord of the circle 2% 4+ y? = 1 which

subtends a right angle at the origin is

1
Az’ +yt ==
r° +y 1

1
B.x? +4y® = —
-ty 5
Czy=20
D.m2—y2:0

Answer: B

° Watch Video Solution

3. If one of the diameters of the curve 24+ y? — 42 —6y+9=20is a

chord of a circle with centre (1, 1) then the radius of this circel is


https://dl.doubtnut.com/l/_Q2Rcs8rNS72i
https://dl.doubtnut.com/l/_QUNQxQwiY3ld
https://dl.doubtnut.com/l/_LREMNtuQ3S14

A3

B.2

D.1

Answer: A

o Watch Video Solution

4. Let A be the centre of the circle 22 + y? — 2z — 4y — 20 = 0. If the
tangents at the points B (1, 7) and D(4, — 2) on the circle meet at the
point C, then the perimeter of the quadrilateral ABCD is

A. 150 sq. units

B. 50 sq. units

C.75 sq. units

D. 70 sq. units


https://dl.doubtnut.com/l/_LREMNtuQ3S14
https://dl.doubtnut.com/l/_vDDbDV2L9c2u

Answer: C

° Watch Video Solution

Wb Jee Previous Years Questions Category 3 One Or More One Option

Correct Type

1. The equation of the circles which touch both the axes and the line
4x+3y=12 and have centres in the first quadrant, are

Az?+y’ —z—y+1=0

B.z’ +y? — 2z —2y+1=0

Ce?+y?—122 —12y+36=0

D.z24+y* — 6z —6y+36=0

Answer: B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_vDDbDV2L9c2u
https://dl.doubtnut.com/l/_AjO7bjQsDFWQ
https://dl.doubtnut.com/l/_ScABi3uKAvB6

2.1f the circle % + y? + 2gx + 2fy + ¢ = 0 bisects the circumference of
the circles

2 +yP =6,z +y* — 6z —4y+10=0and z* +¢y* + 2z +2y — 2 =0

, then
Ac= —5
147
B-79= 55

Cg+2f=c+2

D.4f = 3g

Answer: A::B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_ScABi3uKAvB6

